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The ConJuchATe of a
CompPLEX NRBEL .

NiumBed —> Con JuGATE

245z 22— Az
4-§5 = 44

When you multiply a compound number by its
conjugate you often get a simple answer

Diffestoncs.
of 2

§qumatee

2. (2—\\—”53(2*'5;5.) =4 -7 = |

fomenten  (a+b)(a-L) = A" -4
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This trick is used when dividing by a

Compound Surd number

multiply above
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1. Simplify each of tﬁe following;:
(i) V8 (ii) V27 (iii) 45 (iv) V200 (v) 3/18
== = 1 = Ja¢s) = Jloo(® =3{a)
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2. Express each of the following in its simplest form:

(i) 2V2 +6/2 =32 (i) 2v2 +V18 (iii) V32 + V18
= 55 - 26 +RG = [1C6) +176
= 22 +382 =452 +382
= g \ﬁ_ - :}'ﬁ
(iv) v27 + V48 —2/3 (v) V8 + 200 — V18 (vi) 7V5 +2/20 — V80

= [Am+Hicm-253 | =J4@ Hiw@-[ay | =Hs +25%6) - fits
=232 +4§= -2 =202 +lof2 —3§2 =5 +4fs —4ls
= 5@ = ﬂﬁ 3%5
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TRICK- MULTIPLY ABOVE AND BELOW BY THE SURD DENOMINATOR

3. In each of the following quotients, rationalise the denominator.

o1 sy 2 2 8

(i) v,—«g (i1) NG (iii) 572 (iv) % (v) W
0 ((ﬁ -5 @)F’M)Bﬂ-\ﬁ—\
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Ji TEY®Y v §

a 2z _ 2( 22 _ &=
&Rl ™ e
S%o = {s) =-5§Fz.

(" 20 - 203 _ 2o8Eo =a-SE-2_zcsm 26
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4. Simplify each of the following:

(i) V8 x V12 (i) 3/2 x 5/2 (iii) v2(V/6 + 3v2)
= 3l = 15(2) = J‘T,) +3(2)
= = %o =§7 +6
= {lece) = 4o +6

=4 = 203 +b
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(iv) (5 —V3)5+V3) (v) (VT +V35WT =5  (vi) (a+ 2Vb)a — 2Vb)
=253 =3-5 =6—Ub
= 22 =2

Difference of 2 squares

5. By rationalising the denominator, express each of the following in its simplest form.

0 = (i) 5255 i) 32 ) 75275
(i) 4 (s3-0 (i) 12 (3+/2)
(541 )(§5-1) (3-52 X(3+&)
= Hs-¢ - 2+12 82
5-1 —
9-2
= H5-¢ = 3641283
¥ e
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5. By rationalising the denominator, express each of the following in its simplest form.

. 4 .. 12 ey 2 —4/5 . 1
O w57 () 37775 (i) 575 ) =7

(i) @EX2-8) _ 4-4()+5 _ 1

= =l
(2455 X 2-59) ¥ -5 =

D) I (3 +R) - 2+ = Se)+7 _ Eﬁ'=§_
(G-nYG+e)  F77 6 &z
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